The P Rocket

Materials: Vicki Clarke 2016 victats @ gmail.com Terms :
3 yards thread bb- bugle beads (number in front
24 seed beads indicates how many to use)
2 bugle beads sb- seed beads (number in front
indicates how many to use
Before Starting: j- lock join

rw- reverse work (only added in

String beads onto thread in this order: .
places where you otherwise might

2 seed beads, 2 bugle beads, 22 seed beads

not rw)
Wind 1 yard on shuttle CTM, leave 2 seed beads on the ball thread DNRW- do not reverse work
vsp- very small picot
Round 1 slt- shoe lace trick

3sb/1sb- add 3 beads on working
thread and 1 on core thread

Put 2 bugle beads and 12 seed beads on the back of your hand
R 6 2bb 6 4sb 4 4sb 4 4sb 4..

Pull up 2 beads from shuttle and 2 beads from ball thread to make a mock picot

C 12 1j (btwn 2" and 3" beads on 1% p) 12 1j (btwn 2™ and 3" beads on 2nd p) 12 ]
(btwn 2™ and 3" beads on 3" picot) 12

R 3 +(btwn bugle beads) 3 vsp 6

C 10 1s 10 (pinch to form point) 1j (vsp on prev ring) 12 1j (mock picot)

Round 2
Note: see terms for explanation of 3sb/1sb.
C 20 slt DNRW

3 beads on back on hand

R 3 3sb/1sb 3 close ring and rw

C 8 slt rw 1j (see diagram)

C Svsp 1 vsp 1 vsp 5 1j(see diagram) slt rw

C 8

3 seed beads on back of hand Round 1
R 3 3sb/1sb 3 DNRW

C slt 20 tie above 1j on prev round and

10

cut thread. Hide ends.
Add red thread to vsp and fray the thread for

flames Raund __

[][I bugle bead on picot

: So ' ol
88 4 seed beads on picot ©

??u | bead on core thread, 3 beads on picot

,,,,, tie onto vsp red/orange thread and fray ends

%  lock stitch
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